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BRETHANETIH—EXFAREE (68t 10.27M) 18158
ENEeE ENM G | ENE2 | EN4E3 | EN4E4L | ENES | EXE | X8
7
B SEE8=E:E 7748 | 9148 |1,060M|1,204M | 1,348 | 4481 | 459H
i
s BRK 650
8
B BYOHR 100
fidl
1B &R 1,524 | 1,664M 1,810 | 1,954 |2,098M (1, 198M | 1, 2091
ENEeE ENM G | ENE2 | EN4E3 | ENE4 | ENES | EXE | EXiE2
6
B SEE8=E:E 697 | 823M | 9501 |1,078M | 1,204 | 4481 | 459H
i
s BRK 650
7
B BOOHR 100
fidl
1B &R 1,447 [ 1,573M 1,700 | 1,828 | 1,954M (1, 198M | 1, 2091
ENEeE ENM G | ENE2 | EN4E3 | EN4E4 | ENES | EXE | EXiE2
5
B SEE8=E:E 675@ | 7970 | 9211 |1,041M | 1,165 | 4481 | 459H
i
s BRK 650
6
B BYOHR 100
fidl
1B &R 1,425 [ 1,547M [1,671M |1, 7914 | 1,915 (1, 198M | 1, 2091
ENEeE ENM G | ENE2 | EN4E3 | EN4E4L | ENES | EXE | X8
4
B SEE8=E:E 4481 | 515 | 582M | 646 | 714 | 448M | 459/
i
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1B &R 1,198 | 1,265M | 1,332M | 1,396M | 1,464M (1,198M |1, 2091
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SEE8=E:E 1,847H 3,719
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ENEE BENE | ENE2 | ENE3 | ENEL | EN4ES | EXE | EX82
7
B EEEA=E:EE 1,547 | 1,828M |2, 120M | 2, 408M | 2, 695 | 896 | 918H
L]
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8
B OO 100M
i
1HO&E 2,297M |2,578M |2, 8701 | 3, 1584 | 3, 445 | 1, 6461 | 1, 668M
ENEE BENE | ENE2 | ENE3 | ENEL | EN4HES | EXE | EX82
6
B EEEA=E:EE 1,393 | 1,646M | 1,900M |2, 155 | 2, 408 | 896 | 918H
L]
s Bak 650/
7
B HOOK 100M
i
1HO&E 2,143M |2, 396M | 2, 650 | 2, 9054 | 3, 158 | 1, 6461 | 1, 668M
ENEE BENE | ENE2 | ENE3 | ENEL | EN4ES | EXE | EX82
5
B EEEA=E:EE 1,350 | 1,594 | 1,841 |2,081M |2,330M | 896 | 918H
L]
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1HO&E 2,100M | 2,344M | 2,591/M |2, 8314 |3,080M | 1,646M | 1, 668M
ENEE BENE | ENE2 | ENE3 | ENEL | EN4ES | EXE | EX82
4
B EEEA=E:EE 896 | 1,029 (1,163 (1,292 |1,428M | 896 | 918H
L]
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5
B OO 100M
i
1HO&E 1,646 (1,779 (1,913 |2,042M |2,178M |1, 646M | 1, 6681
ENEE EXE (1AOFAMSELELE) EXE2 1AOFAMIELLE)
HCo &85 3,693M 7,438H
BRER 650M
BooR 1004
1BD&E 4 443H 8, 188H
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ENEE ENE | ENE2 | ENES | ENEL | ENES | TR | EXR2
1
B EEER=EEE 2,320M 2,742/ | 3, 180M | 3,611 | 4, 0431 | 1, 3441 | 1, 377H
i
? BER 650M
8
B BOOHK 100M
s
1BD&E 3,070M | 3,492M | 3,930 | 4,361 | 4, 7931 | 2, 0941 | 2, 127H
ENEE ENE | ENE2 | ENES | ENEL | ENES | TR | EXR2
6
B EEER=EEE 2,089M |2, 468M | 2, 8504 | 3,232 | 3,611 | 1, 3441 | 1, 377H
i
? BER 650M
7
B BOOK 100M
s
1BD&E 2,839M | 3,218M | 3,600 | 3,982F | 4, 361 | 2, 0941 | 2, 127H
ENEE ENE | ENE2 | ENES | ENEL | ENES | TR | EXR2
5
B EEER=EEE 2,025M (2,391 |2, 7618 | 3,121 | 3, 4941 | 1, 3441 | 1, 377H
i
? BER 650M
6
B BOOHK 100M
s
1BD&E 2,775 |3, 1418 | 3,511 | 3,871 | 4, 2441 | 2, 0941 | 2, 127H
ENEE ENE | ENE2 | ENES | ENEL | ENES | TR | EXR2
4
B EEER=EEE 1,344 | 1,544 |1, 7441 | 1,938M | 2, 142M | 1, 3448 | 1, 377H
i
? BER 650M
5
B BOOHK 100M
s
1BD&E 2,094M 2, 2941 | 2, 4941 | 2, 688F | 2, 892 | 2, 0941 | 2, 127H
ENEE EXE (1AOFAMSELLLE) EX{E2 1AOFAHIELLE)
EEER=E::E 5, 540M 11,157H
BERK 650M
BroOit 100
1BD&E 6, 290 11,907H
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